
SAP ABAP table /AIN/TID_ISSUE {Issueing Agency}

_AIN_TID_ISSUE

CLIENT [CLNT (3)]

EPC_VERSION [CHAR (8)]

EPC_TYPE [CHAR (10)]

ISSUE_AGENCY [CHAR (2)]

_AIN_TEPC_TYPE

CLIENT [CLNT (3)]

EPC_VERSION [CHAR (8)]

EPC_TYPE [CHAR (10)]

 /AIN/TID_ISSUE-EPC_TYPE = /AIN/TEPC_TYPE-EPC_TYPE 
0..N

1

_AIN_TEPC_VER

CLIENT [CLNT (3)]

EPC_VERSION [CHAR (8)]

 /AIN/TID_ISSUE-EPC_VERSION = /AIN/TEPC_VER-EPC_VERSION 
0..N

1

_AIN_TID_AGENCY

CLIENT [CLNT (3)]

ISSUE_AGENCY [CHAR (2)]

 /AIN/TID_ISSUE-ISSUE_AGENCY = /AIN/TID_AGENCY-ISSUE_AGENCY 

0..N

1

T000

MANDT [CLNT (3)]

 /AIN/TID_ISSUE-CLIENT = T000-MANDT 

0..N

0..N


